@© X|1600(|) Gevlpp | ] | | |Z+'Jet| 0
U )
9100 — 1 . ] é
% N Thrust A_2° (CMS jet substructure) 1o
< p=
(e - m CMS 15
ZIE Pythia 6.428 350 +n
=[S 80 [— --4-- Pythia 6.428 351 —3
=& | - v Pythia6.428 352 uis
ol -~ L A Pythia 6.428 353 g
= s . >
o) | --0-- Pythia 6.428 354 e
= 60 |— --%-- Pythia 6.428 355 ]
£ | 0 Pythia6.428 356 1
g Pythia 6.428 357 _
o | v Pythia 6.428 358 18
T [ @ = Pythia6.428359 1
£ 40 —. —3
£ LA 12
+— | >
e 1%
[}
20— | —c
= 18
£ & 18
© u N 1g
= \‘;;*1"1"“""-‘“‘--“-?““““4» | : | =
n E’_-_‘_-_’_- } } e e [ |:
2 = —2
n B i
= - _|
@) | _|
e 1 1
. — —
3 B _
x
0.5 —0.5
| 1 1 1 1 " | " |
0 0.5 1



	Contents
	Page 1


